Annexure-1

List of CEDASPE make LV Bushings to be supplied

No

SAP Code

Make of Bushings

Long Description

Qty

Remarks

2700097298

CEDASPE

BUSHING; MAKE: CEDASPE, MAKER'S TYPE: 20F/3150, (STYLE: E1) RATED VOLTAGE: 24KV, RATED CURRENT: 3150A,
CREEPAGE DISTANCE: 440 MM, WITH VITON GASKETS AND MOUNTING ACCESSORIES INCLUDING TOP TERMINALS
(STYLE-VU), DIN 42533, FOR JARA IDT LV BUSHINGS. AS PER THE ENCLOSED DRAWING NO: 3808 (Item: 1)

2700097299

CEDASPE

BUSHING; MAKE: CEDASPE, MAKER'S TYPE: 20F/3150, (FIG-B1) RATED VOLTAGE: 24KV, RATED CURRENT: 31504,
CREEPAGE DISTANCE: 440 M, WITH VITON GASKETS AND MOUNTING ACCESSORIES INCLUDING TOP TERMINALS
{ESEC. UNEL), DIN 42533, AS PER THE ENCLOSED DRAWING, UNEL 38174-74, FOR MALL IDT LV BUSHINGS.

2700097300

CEDASPE

BUSHING; MAKE: CEDASPE, MAKER'S TYPE: 20F/4500, (STYLE- CS5), RATED VOLTAGE: 24KV, RATED CURRENT: 4500A;

BIL: 125KV; CREEPAGE DISTANCE: 440 (MM), STANDARD: IEC 60137, WITH VITON GASKETS AND MOUNTING
ACCESSORIES INCLUDING TOP TERMINALS FOR RGBN IDT LV BUSHINGS. AS PER THE ENCLOSED DRAWING NO:
3811

2700097301

CEDASPE

BUSHING; MAKE: CEDASPE, MAKER'S TYPE: 30F/4500, (BOTTOM ROD - R3040250), RATED VOLTAGE: 36KV, RATED
CURRENT: 4500A, CREEPAGE DISTANCE: 680 MM, WITH VITON GASKETS AND MOUNTING ACCESSORIES INCLUDING
TOP TERMINALS (BRASS TINNED) FOR JABLQUAY IDT LV BUSHINGS: AS PER THE ENCLOSED DRAWING NO:
CE/579/JABLQUAY/E/02/594

2700097302

CEDASPE

BUSHING; MAKE: CEDASPE, MAKER'S TYPE: 30F/3150, (STYLE-CO), RATED VOLTAGE: 36KV, RATED CURRENT:
3150A, CREEPAGE DISTANCE: 680MM; STANDARD: |EC 60137, WITH VITON GASKETS AND MOUNTING ACCESSORIES
INCLUDING TOP TERMINALS (STYLE- VD),DIN 42533, FOR HDQA IDT LV BUSHINGS, AS PER THE ENCLOSED
DRAWING NO:3806 (Item:5)

2700097303

CEDASPE

BUSHING; MAKE: CEDASPE, MAKER'S TYPE: 12-3150/P4, DIN EN 50180 (FIG-C1), RATED VOLTAGE: 12 KV; RATED
CURRENT: 3150A; CREEPAGE DISTANCE: 385 MM, WITH VITON GASKETS AND MOUNTING ACCESSORIES INCLUDING
TOP TERMINALS (ESEC.DIN) FOR KFAF IDT LV BUSHINGS; AS PER THE ENCLOSED DRAWING NO:3802

Remarks:

1 Each Bushings shall be packed in separate wooden / metal box for long term storage.

2 Spare bushings shall be suitable for replacing the existing ones, as per the enclosed drawings.
3 Mounting instructions, drawings and test certificate shall be supplied with each bushings

4 Gaskets and mounting accessories shall be supplied with each bushings

5 Refer the enclosed drawings for more technical details.

Page-1/1




ITEM Np. 1

-
Style VU Style VD
= Y _Style VD _ L)
.M 120 50 120 45
,M\ 30 : 60 : 30 20 30 60 , 30 15
L |
o Yo ap L=
=] gl =
e © &
g #18 gl A\W S
g Mw\| 514
= i AV
£ |
m T . ! |
- _ A_Y
H | Pos. Description
1 | vﬁ 1 Porcelain
(el ) - Ial 2 Copper rod
= 3 B B
(=] CANTILEVER OPERATING LOAD J48X3 1 = o
i v o m__.ﬁo Fo ; - Brass lop washer 'F
S - INCLINED 307 o oEmw _— NBR ring pasket "
_mw OPERATING TEST LOAD: 3150 N | |® r Gaskel 0"
i ﬁ _ .:mj—m,j,:m 9 NBR aasket "M
| _"anz;_‘m 10 NBR Flange gasket "N
E | 11D Brass flag Esec DIN
B — 11U Brass flag Esec. UNEL
04 — & .
e a7 Z 12 Brass ring 'P"
6 s 13 Copper ring "S"
| 14 Brass nut M48 DIN 934
03 16 Fiber pgasket
W 17 Vent/screw "R’
18 har 18 Locking screw
%@ e 23 Bronze contact ring "U”
- 13 24 | Alluminium fixing ring D" DIN 42598 (AISI304)
..Mw; & 25 | Alluminium clamping piece "F" DIN 42538
1_..0.”. 26 Nuts M2 DING34 (AISI304)
= 27 Washer 213 (AISI304}
g ® 28 Fixing stud M12x70 (not supplied)
w. Tightening 28 Bress nul M48 DING34
B il 30 Brass locknut M48 DIN936
3D-U Brass flag Esec. DIN ar UNEL
32 Center ring
= = 39 Copper spacer ring
m o 6 fixing studs —
& steel
s Mi2x70 (not supplied | £
g 30F/3150 upon request ith the lit} o
i an be supplied
g with melolaet Size "b" os old] _ L\ ks %
G (30F/3150:M) DIN 42533 .
£ |
- [
- g o ] ©
R New CEDASPE "2009 series” :
: Size 00=35mm+'bDIN 42533 ‘
5 I
2 Rod lenght (Lt
g MAEX3 R it ll)
s NEW
£ EXTRA LENGHT
8 Style CO
g Bushing Acc. to —
2 IEC 60137 ed. 6.0
H ] ave| PF Rod
g Bushing |Voltage|Current mmmnwm ;' |BIL| a |CO|d4| e |E2| h | L1 :,NQ G|\ 7
m kv A i Ky | KY | mmimm | mm|mm|mm|mm mm shedal 28 i
H 10F/3150] 12 290 |30 |75 ]560{203[190|239| 86 (422|763 2 | 29 (625
5 20F/31501 24 3150 440 |55 [125635(213]210|314| 96 |497[848] 3 [ 33 710l4— DEWA urt Cods
& S0F/3150 680 27000 37p
g / 36 —eae 77 |170(740(243|230{419[121|602(983| 4 | 39 [845 #7298
= S0F/3150.M 565
E NOTE *: Reduged CD for porcelain with melalization
&
B
2

JARA |DT-LV

CEDASPE |

THE FICURE SHOWS THE BUSHING 20/3150 (1:5 SCALE)

BUSHING

lelboyTpOOR TRANSFORMER

DIN 425383 (UNEL 38174/74)
RATED CURRENT 3150A
VOLTAGE 12 TO 38kV

Dolo 1/BB/3 | pg 1
Scale 1:6

Dis. @@O@
Visto 1[2]8] [ ]




ITEM M. 2

w Esec. DIN sec. UNEL a
m\ 120 45 . 120 50
| (30~ 60 s_ i R P A
To sl T4l
: A & Hi I&J w,mﬁ
5 483 \@\_llﬁv ST 58 LT

- T el
sle = T )
9 - JTTE =
5 T 8*. @+ | ¥
w...m 14 1_1 _ __ n%u L] !
o3

£,
F ]
REV. 02 DTD 03/01,/2000

@

i

&
i
m

[
3
i
§
g
;
d L
: Tensione|Corrente| Linea N'ALETTE Volume
A | Pl eﬁaﬁﬁsﬂs EadkahalCa R L &T__ sl ' g
10F/3150] 12| 3150 | 290 |560(226[316|168190239]86 |422728] 2 | B | 1 Dewn S
20F/3150] 24 | 3150 | 440 [625(236|326(178]210/31496 (497803 3 | 33 | B5 |<— | copE
30F/3150] 36 [ 3150 | 680 [740(261(356[208]230[419]121/602l048] 4 | 39 | 95 22000 9
2| LA FIOURA OSTRA ISOULATURE 20/3150 B SONA 15~ . SHI8 FRUAE SEOFS THE BUSHING 20/3160 (1:6 SULE) |
~* | ISOLATOR!- PASSANT! PER TRASFORMATOR DIN-42533 £ UNEL 38174/74
it - CORRENTE: NOMINALE 3150 :
OUTDOOR TRANSFORMER BUSHING DIN 42533 AND UNEL 381 14/14
RATED CURRENT 31504
Brs L (S HIN

Mace Dr v

#120

ShP

329




ITEM M. 3

RGAN |

/D7 LV

- 150 56 3.8
g 40 70 40 20
: e Y
g 918 2| 8
g — )
£ ﬂ |
1|
v CANTILEVER OPERATING LOAD _
= ~ VERTICAL: 1575 N I
[ — INCUNED 30': 945 N L T
— ~ OPERATING TEST LOAD: 3150 N 1 Pos. Description
oy zm_mxu 1 _uo:m_a:,
M Style FO _ - ke
el T R ] Brass cap 'E”
I ﬁ |JI® 4 Brass lop washer 'F"
L | Tightening 7 NER ring_pasket ")’
e | EI torbue B Gasket "0’
: 200Rm 3 NBR gasket W
& 10 NBR Flange gasket "N
1 Brass flag
B 12 Brass ring P"
13 Copper ring "S"
14 Brass nut M55 DIN 934
16 Fiber gaskel #
] 17 Venl/screw "R"
m 8 Locking screw
g + 23 Bronze conlact ring 'U”
WI 24 Alluminium fixing ring D"
g 25 Alluminium clamping piece "F"
0 26 Nuts M12 DING34 (AISI304)
m. 27 Washer 813 (AISI304)
Arter e 28 Fixing stud MIZx70 (not supplied)
View "C” fowa 29 Brass nut M55 DING3:
— | 25Nm 30 Brass locknut M55 DING36
m R Center ring
m 33+ Equipotential link
.m 39 Copper spacer ring
m n" 6 fixing studs steel
g M12x70 {not supplied &
5 ith the kit
hm., can be supplied [ m— mo_ns_n,.ﬁn_nmmmoovaﬂ
] 2 with mllfv
1@!% metalization _l
/8 (30F /4500.M) f 5 =
e o 52 29 ,
= 914 N
g P L
= oy
5 AT 30
£ i
M 20 max 20 mm
°|| Bushing Acc. to L #55 M55x3_|
rm IEC 80137 ed. 6.0 \HmﬂJ\_m Omv MJ\_O E1
= :
Z| | Bushing |Voltage Curren|Tecpage 6| a |bi|ct]ae| e |E2| 0 | Lt e MR A
MM KV A mm |y | <Y [mm|mmlmm|mm|mm| mm|{mm|mm chiedsl 9 [smnr | i D < CopE
<[ [10F/4500 12 4500 290 |30 |75 [600/215[210[190(239) 86 [455) 810 2 | 39| 660|655
&| | 20F /4500 24 4500 440 |55 |125675/225(22012101314] 96 530/ 895 3 | 47| 755] 750 " 2 FoUD ¢ .Q. 30D
=| [30F/4500 680 4
. 307 /4500 N 36 4500 G 77 1170[780|250(245|230/419{121|635(1025| 2 | 55 | 885|880
= |36/4500-P3 920 Remark: using porcelain type
M 36,/4500 P3N J6 4500 307 | 77/|170|780(250|245| 260(419] 103/ 635/1025| 5 |55 | 885| 850 36/3150-p3 with hardware 30,4500
.m *NOTE: Reduced CD for parcelain with metalization
> THE FIGURE SHOWS THE BUSHING 20/4500 (1:5 SCALE)
£ Titolo Data 11/03/13 Dis. Nr
,.w OUTDOOR TRANSFORMER Scala  1:5
- BUSHING 12—-24-36 kV  [;. 3811
ECEDASPE RATED CURRENT 4500A _
RE T n Visto t[2[s] [ |




ITEM N0O: 4 DeEwA  SHP (PsS: 290509720/ T Guay IDT LV

]
[

16 | 15 1 4 | 5] | 12 I 1 | 0 | 5

B | 7 I & I 5 | - [ B [ 2 [ 7 T

OUTDOOR TRANSFORMER BUSHING 12-24-36 kV RATED CURRENT 4500A |

&0 a s — i
MS5X3, 1
J E |
d? ¥ :
Tinned F )
@ { oy 40 10 | Bushing Manutacturer [ CEDASPE |1 ]
~— } ‘ Country of Origin ITALY |
~ 4¢}——
2 < l
(14} \| oy PARTS DESCRIPTION V
J o
\\ U Poc.1 Porcolain Poc.17 vont scrow 'R
o I Poc.2 Copper rod tinned Poc. 18 Locking screw
f Poc.3 Brass cap '€ Poc2a | Alumunium fixing ring ]
@ R— I Poc.d | Brass top washer 7 Poc.26 | Alumunium clamping pisce F*
. Poc.? NBR ring gasket \J* g Mildl steel zinkplated chromium | | 4
/ Poc.B8 Gasket O ) passhvated M12 DIN 934
33\{ o i External c;:n?s?t:unaplate (Tinned) Poc.g NER gasket "M Poc,27 Mild steel washer dia. 13mm
. rial - Brass
34 lﬂ‘i 20- A elena Poc.10 NBR flange gasket'N' | Poc.28 Fixing stud M12X70 -
S_EJ r Poc11 | B Sonnection plate Poc32 | Cenire ring
Poc.12 Brass ring “P* Poc.33-35 | Equipotential link - Tinned
(i ST ) Poc.13 | Gopper ring 'S* Poc.36 Brass locknut DIN 936 1
_Bottom View Side View Poci4 | Brass nut DIN 834 Poc.38 | Copper spacer ring
b o Poc. 16 Fiber gasket |
o E— Bottom connection
] & TORQUE VALUES '
!, - ’550,-* Head armature - MSS x 3 = 300 Nm
-~ _hl > Fixing aragement - W12 = 40 Nm
2 Connecting piece (eurrent camying connection) - M12 = 70 Nm b
2 2 \
G G L1
o - Q_
I T ] | 2] | R
@ b~ = £ [T | Bevbed ia Per commeni W |am: LT A
2 2| Bevised ks Fer comments Y et W jumens B
E2 K n° 8 fixing stud made in steel é T | Reviecd 1a Per commna W ,mml W T
— i M12X70 Bolt circle 200MM - { 0| Eued Tor aprom T |m W [@naw ¥ | |
(32— (not supplied with the kit) L R62.5 (30) W | o | | o
N .12
s 5 o " DETALS FREPARED ‘ CHECTEDY b2
= ci b1 a0~ o

dudlall s tyilga DP World UAE Region FZE

" ” B POBox 1 17060, DUBAT - UAE.
Termination plate with DP WORLD 7 o501 + somere
bottom connection rod T T TEL . m9m 4 e
P.0.Hox : 17080, DUBAI — UAE, 1

INTERNAL CONNECTION OF LV BUSHING AT %
ool ueg ey mAd s
Vice. l Dubai Electricity & Water Authority

[ R3040250-30NF 4500 tinned__|

-

Standard bottom rod

Replaced by R3040250 ELECTRICITY DIVISION

FAX : 00871 4 3248111
P.O.BOX : 564 DUBMl - WLAE TEL : 00871 4 3244444

SUBSTATION CONSULTANT : —

= ENERGOPROJEKT ENTEL CO. LTD
7 DUBAI BRANCH
TAT 00071 4 masEres
00971 4 3388761

P.0. BOX 46725, DUBAL - UAE TE:

abioreviatons for drusn o chacked

Conputer CAD) -genorated drasings
fear na signs tures Bt printes

T
CONTRACT
DESIGN.SUPPLY , INSTALLATION TESTING AND COMMISSIONING OF ONE |—
o Vollaga Currert Creepage 132/11KV SUBSTATION AT T3-QI0 CONTAINER TERMINAL (JABEL ALI)
& A distanca
WA CONTRACTOR ﬁ (TRAZT M1
DPW/UAE, 578/T3-Q10
30F/4500 38 4500 680 ‘p o /UAE/DXB/570/T3-Q i
ST T
.
s e oo - G e 132/1IkV JKBLOURY 5/
AT TR
a b1 el a4 e E2 h L1 [N ofshed | Mass | Volume e . mRAVING ML
mm [ mm [ mm [ mm [ omm | mm | omm | omm z kg Dm? e wr | sowwe|]  CE/579/JABLQUAY/E/02 /594 ]
FREAPRED | 23.11.2002) i
7680 | 250 | 245 | 230 | 418 | 121 | 629 | 1028 4 55 120 | e | 2o.u1z0i2] Vo LV-Bushing
TR T o S ]
APPROVED | 30.11.2012| GZ r a 1 I D?l
6 15 | 1 13 | 12 3 = L i

NG

——



>
m
.4

M (210:287)

T [(0,0) (196,.286)]

FILE = 3806 .DWG

municarlo a terzi senza suo aulorizzozicne.

1 REV. 03 DTD 18/07/2014

La CEDASPE S.p.A si riserva o termini di legge la proprietd del presente disegno con divieto di riprodurlo o co

No.

B

HDoh

CEDASPE

THE FICURE SHOWS THE BUSHING 20/3150 (1:5 SCALE)

e m—
Style VU Style VD 35
120 30 120 45
30 60 30 20 30 60 30 15
T ) ] — g
f=) o
& o D"
w el &%
&1 & p14
— — :
L] # 1]
i |
,1 H Pos Description
IA_V 1 1 Porcelsin
- I.ml 2 Copper rod
CANTILEVER OPERATING LOAD 48X3 - Praak onp P
. i Style FO i 4 Brass top washer 'F
. | SRS : g et ¥
— = | 8 Gaskel 0"
s I T2y Tahlening 9 NBR gasket "M’
_ _m%ﬁ_._-ﬂ 10 NBR Flange gasket "N’
_\I_ 11D Brass flag Esec. DIN
= 11U Brass flag Esec. UNEL
23 as 04 = 28 2 12 Brass ring P
6 _f 13 Copper ring 'S’
Rz 14 Brass nut M48 DIN 934
16 Fiber gasket
17 Venl/serew "R
fusr] 18 Locking screw
P 23 Bronze contact ring U
L] 24 | Aluminium fixing ring D" DIN 42538 (NISKI04)
25 | Mluminium clamping piece "F° DIN 42538
26 Nuts Mi2 DING34 (AISIS04)
27 Washer 213 (AISI304)
® 28 Fixing siud M12x70 (not supplied)
Tightening 29 Brass nul M48 DIN934
mcmmﬂ 30 Brass locknut M48 DIN936
D-U Brass flag Esec. DIN or UNEL
32 Center ring
[[T] 39 Copper spacer ring
%),
R
' 6 fixing studs
steel
| me M12x70 (nol supplied | £
upon requ with the kit
g:nwu_uwn mﬁh o ] 32) | Bolt circle mmoowaa s
with metalization Size "b” os old | — 1
(30F/31504) DIN 42533 —1
||
, &
New CEDASPE "2009 series”’| 4 = = ~ | ~.7 ]
Size CO=35mm+*b'DIN 42533 ] _
|
Rod lenght (Lt
G Rod lenght (L1}
NEW =
EXTRA LENGHT 310-U
Style CO Style A1
Bushing Acc. to .+<|| ||.J..’
IEC 60137 ed. 6.0
PF Rod
Bushing Voltage| Current mﬂmmumw 1" |BIL| a |[co|d4| e |E2| h | L1 D,NQ G.w. [T
kV A i KV kV [ mm{mm|mm|mm|mm|{mm |[mm stisds] K9 [
10F/3150( 12 290 |30 |75 (560]203|190|239] 86 |422(763] 2 | 29 [625
20F/3150| 24 3150 440 155 |125(635(2131210)314| 96 (497(848] 3 | 33 [710
30F /3150 680 Dewp SHP
36 77 [170]740|243|230(419/121(602|983 4 | 39 B45—
30F/3150M 585* cenE
NOTE *: Reduced CD for porcelain with mefalization 2 FovD 9f 302

el oUTDOOR TRANSFORMER
BUSHING

DIN 425383 (UNEL 38174/74)
RATED CURRENT 3150A
VOLTAGE 12 TO 36kV

Date 11/03/13 Dis. Nr
Scala 1:5

= 3806
Visto 1/2]3] | ]




A4 (2104297)

LMT [(0,0) (196,286)]

FILE = 3802 .DWG

g

REV. 00 DTD 11/03/13

0 comunicarlo a terzi senza sua auterizzazione.

(6 o]

40!20

120

Vs

120

P %)

KFAR |D7- LV
"B" = Dettaglio fissaggio 3 5EN
= = |'B” = Pization detoil
= = Esec. DIN Esec. UNEL
= = e =
= = 120 45 120 50
| I 0. 60 % 15 0 60 _ 3 2
S (=
< S| 7TT ]

-

n' 6 prigionieri di fissoggio M12x70
in occioio su #200/205 mm (non fomiti)
Vedere dettaglio "B"

n® 6 firing studs made in steel

M12z70 Bolt circle 200/205 mm
(not supplied with the kit)

See detail "B”

Fig. Ci1

LA FIGURA MOSTRA ISOLATORE 24/3150 P3 IN SCALA 1:5

(05

VISTA "A"
View "A”

THE FIGURE SHOWS THE BUSHING 24/3150 P3 (1:5 SCALE)

La CEDASPE S.pA si riserva g termini di legge lo proprietd del presente disegno con divieto di riprodurla

+ - - . . z
Isolatore |T€Nsione|Corrente _._.__%. polluzione e m.s di E,_ min. ?ao__sa?a Porcelain hﬁ =Wu=aha _umu rnn 11 Alette _—.ﬁn
.Wﬁm?.mé Sunnn_ﬁ& Currend [Poltion level end in craep.dislonce Tpo | _Linea di | istanza .&.Q.g .260&4 .aﬁ
KV A I I [ V_ |fipe ﬁ&g? distance| mm mm | mm| mm|mm|mm |Sheds
[12-3750/P% 30| 192 [ 240 | 300 [ 372 [ 5] 710|260 [474 | 120 6] 2 q—
24-3150/P3 3150 | 384 | 480 | 600 2% 620 275 (325539 (120230 | 672|881 4 D
0 e w2 | 36 [420 (634 (125|260 | 767|976 5 <
3150 1116 1 28 1135 485 (5% (749 [ 175260 | 882 (10916 Cene
Titolo Data 11/03/13 M. Fir
OUTDOOR TRANSFORMER |[Scali 15
BUSHING EN 50180 Dis 3602
RATED CURRENT 3150A Vi ﬁ _ _ _ _ _
isto

2 ForpF3303



